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QUESTION 1

Using Hyperledger Composer, which block of code correctly emits an event from a business network?
A Option

lasync function basicEventTransaction(basicEventTransaction)
* let factory = getFactory():

let basicEvent = factory.newEvent ('org.namespace’', 'Bas
emit (basicEvent) ;

| ¥
.J.} E
' o

B Option

.;M

IﬂVﬂnt {org.namespace.BasicEventTransaction) basicEventTr

_an function basicEventTransaction{basicEventTransaction)
lat factory = getFactary():

" let basicEvent = factory.newEvent('org.namespace', "Bas
-'mit (basicEvent) ; :

& Opﬁm

l'f'ti

% @param {org.namespace.BasicEventTransaction) basicEventT:

' * @event

J!f

fasync function basicEventTransaction(basicEventTransaction)
let factory = getFactory():

let basicEvent = factory.newBEvent ('org.namespace', 'Bas
i emit(basicEvent):
(7

D. Option

ram {org.namespace.BasicEventTransaction) basicEventTr
ansactiun

"-.'l'.

?‘&ﬁ'- funct1nn basicEventTransaction (basicEventTransaction)

%“'¢Iht factory = getFactory():
' ‘t basicEvent = factory.newEvent ('org.namespace’, *Bas!

.. mre it
]
Alpy=aV 4 - gl s J'*Lk

A. Option A

B. Option B
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C. Option C
D. Option D

Correct Answer: D

QUESTION 2

What is used to allow granular access control at the bucket level in IBM Cloud Object Storage within an application in
IBM Cloud?

A. App ID

B. Federated SSO

C. Platform API Keys

D. Identity and Access Management

Correct Answer: C

QUESTION 3

Which Docker component specifies interfaces that programs can use to talk to the daemon and instruct it what to do?
A. Images

B. Engine

C. Registry

D. Services

Correct Answer: A

QUESTION 4

What is Compose for etcd used to store?
A. Messaging data

B. Keyl/value pair data

C. Data in JSON documents

D. Data in a relational schema

Correct Answer: B
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QUESTION 5

What are the default phases of the IBM Continuous Delivery Toolchain?
A. Think, Code, Build, Run

B. Think. Code, Deliver, Run

C. Think, Code, Build, Deliver

D. Think, Code, Build. Deliver, Run

Correct Answer: C
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